BBC LEARNING ENGLISH —
Q and A of the Week {R ] Z2ZF LEARNING
PR “HER” Bl A KB

proportion, rate, ratio, percentage
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Question

PRbf, MEiEHIX L REX A “proportion. rate. ratio” 1 “percentage” .
CEHERAERT L “ElbR” EMGIRE B RESZ A “the proportion of land
degradation” 1 “employment rate” , # “proportion” 1 “rate” f&ELAH% #t
N2 SRR IR o

Feifei
A% Ming AH%03E #.i7 “proportion. rate. ratio” il “percentage” Z [ H 4 X
W, PLK “proportion” 1 “rate” X PN A 75 AE B fH H

APk xF b 4237 “proportion” Fl1 “percentage” Z [EIIX %], “Proportion” Al
“percentage” #SFJLAFRIR “—KEi—HFY) L BRI ELE” .

EATZRIIX A2 4id “proportion” IR EZ “O@. tpEl” , EBETLLZ—A
B8, WablEa%: 1 “percentage” WIEEE “HalL” , ©ReELLE S EH
KRB — N7, tban, WA ANRAIR: “What proportion of the human
body is water?” Af&KA K HILLE]E Z /D2 AREEFTLARIZRUE:  “It’s about 2/3.” K
A= 2 —. WATLLEIZS:  “It's about 60%.” KZ15 60%. fHA1R ja] M.
“What percentage of the human body is water?” Af&KPN /KK H 0 Heie 247 )
AR RBEFE BRI “It's about 60%.” K115 60%.

br 78 “Lpl. A7 LA, %A “proportion” i AN — AN EE, ERLRIR
“Hepl. bhE”, RSRICE AN FEEE T 2 D BUKE B AR 1T — AN A
“proportion” kFik “Lul” [#F14].
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Example
The proportion of men to women in this company is 5:6.

(XFKAFM T L eplR N, D

Feifei

7E4%74 “proportion. rate. ratio” 1 “percentage” X4, BT “proportion” LA
4b, “ratio” W LARIR “PINHYZBRIELE]” o X PSR E o A E A . T
an, WIKIERAT B KA1 4. “The proportion of men to women in this
company is 5:6.” WIRXAJIEFH 41 “proportion” #a “ratio” , A FEiAL K
T: “The ratio of men to women in this company is 5:6.” , {HZAEIIAZL, K
TR /N5 “proportion” 1 “ratio” HIfI6), XMA)IE MR EH L.  “IEMi
e RIS i, TR PR U ) oy B, 7

Examples
When making the dipping sauce, the proportion of vinegar to soy sauce is
important.

When making the dipping sauce, the ratio of vinegar to soy sauce is important.

Feifei

HEFERENZ, WREELR “PINEYRIHESOKFRIERR” , Rae S 410
“proportion” HJF4HC “in proportion to” REEXANFE . AR —MEH 14
Bt “in proportion to” (Kl 4].

Example
The salary of an employee in this company is in proportion to the number of

years they’ve worked here.
CRRZ o> w) A B 98 5 HL e kb D

Feifei

w5, FATREI41E “rate” . “Rate” TEHF=AE-. £ ‘R, ©
FRHR A F A AR AR I TR N R AR AR B S 1) AN T THTZE 45 I [) g T
R Bt o ki, Ming R &0 A 5 B« Btk R 7 F 95O st 2
“employment rate” , X/MECFEFEIRRE A0 LR E N G RGE NS
tbR” o Fiban, A “mlkF” MRS “unemployment rate CRALER) 7 5 i
AL AE T R R SR B S, B “birth rate (HAZE) 7

“success rate (RINZE) 7 ; “divorce rate (FHSZF) 7 L& NEHIHENT AN H 4
W “rate” RF/x “LEER” BEIA].

Q&A of the Week ©British Broadcasting Corporation 2020
bbclearningenglish.com/chinese Page 2 of 4



Examples
Experts believe better medical care has played an important part in the decline
of the infant mortality rate in this area.

(CBZONA, BRI BT DR AE PR X 28 ) LSBT R 5 T A 3% 1 BRI . )

Survival rates can give patients and their families an idea of how likely they’re
expected to recover in the future.

AR DRI A R K& TR E I REER 2K . )

Feifei

%0 “rate” PIEAEERE “HEER” , W “CRHERABCRREE” o T
“proportion. ratio” 1 “percentage” #&AXANE - RAITKITHAH “rate”
Fon “HER” AT

Examples
The rainforest is shrinking at an alarming rate due to human activities.

CHFAZEESD, i BRI AR L AE DU R B b )

Local bookshops are going out of business at the rate of five a year.

3 1A DL R N R AR . )

Feifei
“Rate” it U HER B EERN LR CH, R “Urks. 2H” . b

Examples
The hourly rate for waiting staff at this restaurant is ¥30.
CRFE)T IR SR 32 30 JT. )

Which bank has the highest interest rate?
(W BRAT A 2 v 7 )

Feifei

FHEVHE T “proportion. rate. ratio” 1 “percentage” HIX 7. FEHERATRKEZ
Ming HI%8 AW +HiBE% “the proportion of land degradation” Flgk %
“employment rate” 9] “proportion” il “rate” &EREAHE B, BRE:
ANATLh. RN T EA,  “the proportion of land degradation” f&#/2 “ - HiiE
A4 o T A TR L) . #3407 . BTUA] “proportion” Frdid. Tl
“employment rate” faHJNE S it LM . “Employment rate” 21y
“rate” ADCH AR, 1 HIOA AT RETRREE R AE R BB X “mibR” , BrRAA
REE T “rate” #upk “proportion” .
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W7, WEAWSEAY HEE, KREXGW 5wt A “proportion.
rate. ratio” 1 “percentage” XU/ 4.

UERARAE JEvh 2 2] R B B 1 e 3, X [l AR 1] . [l AT DL I B FRATT B IR AR
HEFE 3L L questions.chinaelt@bbc.co.uk. [EIHAGEARIE L H#HIK S “BBC 3
WA STATEATRRAES) . WHEST “URREE” TH. MR
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